PITT Qube SBC-1825B-AAA-0

N R SBC-18;
[ir-ion TR SBC-18258

T 9000~ & D0 MADE M-
e G i

e TR
KOSHIN r_"“i’f‘”

Copyright(c) KOSHIN Ltd. All Rights Reserved. 1 2025/01/16 09:46:51




PITT Qube

SBC-1825B-AAA-0

No. mE & - HME B Eff e
1 056822201 [SBC-1825B N 97—y vh™ 43 1 11,500
2 056012501  |;"ATMTF =RV ~(M5*25) SBC (B635002B) |6 200
GB 6478-86
3 056001901  [SBC-3625n/N WMEFENY V9" C (869103) 1 700
ADC12
4 056001801  |SBC-362510/F WEENY V5" B (869102) 1 800
ADC12
5 056001701 [SBC-3625n/N WEEMY V1" A (869101) 1 500
ADC12
6 056807502 [YKILF = (rrrnr) 1 3,700
7 056012301 |[SBCZ w3y 1 700
8 056807401  [yamy”™ -A"Wb795h3 1 400
9 056015701  [#&%/\> K SBC (FLO6017) |1 200
10 [056011801 [RATUTERIL k(M6*36) FE 1 200
11 056011901 ["AaF v b(M6) FE 1 200
12 [056807302 [@EXE=x/3 (Hrrnr) 1 3,500
13 056822401 |SBC-1825B T-§-1M3" ¥4 43 1 13,700
14 |056150901 [ATAERIL ~(M5X20) (W -) (260020400 |1 200
0) M5x20
GB/T70.1
15 [056135601 |SBC-BREIFHEH/— (105586900 |1 1,000
0) PP+PE
16 |056135702 [SBC-BA=Z4£E (125433400 |1 3,300
0)
17 0568520 PA-386 1 1,900|PA-386(4971770-560208)
18 |0568608 PA-440 1 1,600|PA-440(4971770-561083)
19 [0568524 PA-390 EXH#EF v 7Y —EERIL b 1 400[PA-390(4971770-560246)
20 |0568519 PA-380 18V " y7)-(2.5AH) SBC-1825F 1 9,200(PA-380(4971770-560192)
21 0568572 PA-430 18VARZEXREZE Il 1 3,700|PA-430(4971770-560727)
22 056018401 |f&&/3> K SBC (FL*****) 2 200

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/01/16 09:46:51




PITT Qube

SBC-1825B-AAA-0

No. mE & g - ME ERE  Eff S

23 056013601 SBCRYZALVF (145003800 |1 600
0)

24 056013801 SBC {R#E X A x (869803) 1 900

25 0568525 PA-391 1 600(PA-391(4971770-560253)

26 056013701 SBC/RAVF (902902/4) 1 200

27 056013902 SBCY 3 IL¥—R)L b 1 1,800

28 056135501 SBC-BEMMWELE S X)L (180003044 |1 300
6) 216x25

29 056004901 SBC EN#Av-F 18VIRIL (086990301)]1 200
67.1x25

30 056006502 18V N y7l-FRRIA W (180004300 |1 200
8)
51.3x13.5

31 056006601 BA#OITSN)L (086990304)|1 300
180x25

32 056135101 SBC-1825B&M T ~NJL (180003044 |1 200
5) 90x15
PET

33 056007201 SBCENMRIEZ NI (086990305) |1 300
51x59.4 PET|

34 056007401 SBCENHN T H 1 XX (086990306)|1 200
30x45

35 056007501 SBCEMMENEIHES NI (086990307)|1 200
50x40

36 056008001 18V 2.5AH N 97)-BEN M (086990308) |1 200
75.7x19

37 056008101 18V 2.5AH N 9T)-BE5A 2 (086990308)|1 200
75.7x19

38 056008202 18V 2.5AH /Ny 5 1) —3FE F~XJL(PA-380) |(086990310)(1 200
43%x44

00 056135802 SBC-1825B-3650BHYER (180002211 |1 900
5)

00 056033502 SBC MFFEMK () (086990602)|1 300

Copyright(c) KOSHIN Ltd. All Rights
Reserved.

2025/01/16 09:46:51




